## EXHIBIT B

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 2 of 9 PageID #:6151 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate		Fees
Don Barrett, P.A. (PSC Member/Discovery Committee)	Nume	Title	Tiodis	nate		1 003
Attend PSC and discovery meetings; prepare class action complaint of subsequently transferred	John W. Barrett	Senior Partner	25.60 \$	650.00	\$	16,640.00
matter; review critical correspondence, pleadings, and orders to keep abreast of developments;	Richard Barrett	Senior Partner	314.70 \$	400.00		125,880.00
conferences and correspondence with lead counsel and other PSC members; participate in	Sally B. Williamson	Senior Partner	2.20 \$	250.00		550.00
discovery conferences and correspondence; review and code multiple sets of documents assigned	·	Junior Partner	2.30 \$	250.00		575.00
by lead counsel; forward key documents to lead counsel; attend discovery meetings; prepare	Paul Taylor	Paralegal	2.50 \$	100.00		250.00
assigned responses (Plaintiffs Strong, Dinonno, and Fulton) to Ford's separate statements of	,					
undisputed facts in support of motions for summary judgment; prepare for and present Cecil and						
Tressie Fulton for deposition; prepare Fulton discovery responses; handle class member inquiries						
following notice.						
Tollowing Hocice.						
Total Hours & Fees:			347.30		\$	143,895.00
Beasley, Allen, Crow, Methvin, Portis & Miles, P.C. (PSC Member/Discovery Committee)						•
Attend PSC meetings; prepare complaint filed in LAED; review critical correspondence, pleadings,	Bill Hopkins	Senior Partner	336.45 \$	500.00	\$	168,225.00
and orders to keep abreast of developments; conferences and correspondence with lead counsel	Andrew Brashier	Junior Associate	174.30 \$	150.00	\$	26,145.00
and other PSC members; participate in discovery conferences and correspondence; research and	Chad Stewart	Junior Partner	25.60 \$	500.00		12,800.00
prepare complaints and other pleadings associated with subsequently transferred action; prepare	Kim Vaughn	Paralegal	160.40 \$	250.00	\$	40,100.00
discovery in individual matters subsequently transferred to MDL; interview clients and potential	Belinda Hines	Paralegal	0.50 \$	80.00	\$	40.00
class representatives; research and prepare response to Ford's motion for permanent injunction	Jodi Myers	Paralegal	0.30 \$	80.00	\$	24.00
in Cox House Moving case; prepare responses to discovery for certain class representatives;	Mandy Cook	Paralegal	1.00 \$	80.00	\$	80.00
arrange and attend vehicle inspections for certain class representatives; prepare for and present						
certain class representatives for deposition (Santilli, Mawyer, Hutton, Frank Brown Towing).						
Total Hours & Fees:			698.55		\$	247,414.00
Becnel Law Firm, LLC (PSC Member/Discovery Committee)						
Attend PSC and discovery meetings; review critical correspondence, pleadings, and orders to keep	Daniel Becnel	Senior Partner	69.25 \$	650.00	\$	45,012.50
abreast of developments; conferences and correspondence with lead counsel and other PSC	Matthew Moreland	Junior Partner	22.50 \$	500.00	\$	11,250.00
members; participate in discovery conferences and correspondence; interview potential experts;	Toni Becnel		1.00 \$	500.00	\$	500.00
review documents assigned by lead counsel.	Will Percy	Junior Partner	756.50 \$	650.00	\$	491,725.00
	Salvadore Christina		10.00 \$	500.00	\$	5,000.00
Total Hours & Fees:			859.25		Ś	553,487.50

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 3 of 9 PageID #:6152 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

pleadings and deposition testimony from Ford's lingation against Mavistar regarding the 6.0-liter (Section 1) (adiesal engine, response to mitted the soft interrogatoris and requests for production, drated all features of the production of drate of the production of common strength of the production of comments, part of production of comments, part of production of comments, part of the production of comments, part of productions of comments of productio	Firm and Assigned Tasks	Name	Title	Hours	Rate	Fees
pleadings and deposition testimony from Ford's lingation against Mavistar regarding the 6.0-liter (Section 1) (adiesal engine, response to mitted the soft interrogatoris and requests for production, drated all features of the production of drate of the production of common strength of the production of comments, part of production of comments, part of production of comments, part of the production of comments, part of productions of comments of productio	Caddell & Chapman (Lead Counsel)					
dissel engine, respond to multiple sets of interrogatories and requests for production, draft and of prevent discovery to Fortio, prepare response to motion to dismiss, prepare response to motion to competency, pleding of the prepare of previous and state for an disk lead of all critical correspondents, conditional existations for and talks lead in preparing Master Considered Complaint, prepare for and chair all PSC and Committee meetings; conferences with PSC members, MbL counsel, Ford's Counsel, Rwistar's counsel, and counsel for manufacturers of key engine components, conditional existations for and talks lead in preparing Master Considered Complaint, for a disk lead in preparing Master Considered Complaint, for any ordinate assistance for and talks lead in preparing Master to preclude class representatives, etc.), ordif amusics from Counsel, Individual to the control of the complaint of the control of the complaint of the control of the complaint of the compla	Co-lead in Custom Underground matter (prepare class action complaint, review and analyze key	Michael A. Caddell	Senior Partner	1584.15	\$ 750.00	\$ 1,188,112.50
serve discovery to Ford, prepare response to motion for lomb of the property o	pleadings and deposition testimony from Ford's litigation against Navistar regarding the 6.0-liter	Cynthia B. Chapman	Senior Partner	1485.30	\$ 650.00	\$ 965,445.00
more definite statement, prepare multiple amended complaints, retain and work with multiple experts, prepare and file motion for class cartification, attend all hearings; local Counseling and file motion for class cartification, attend all hearings; local Counseling and Committee and Sub-committees; prepare and review all critical correspondence, pleadings, and concerning conferences with PSC members, MDL counsel, Ford's Counsel, Part and chair all PSC and Committee meetings; conferences with PSC members, MDL counsel, Ford's Counsel, Navistar's counsel, and counsel for manufacturers of key engine complaints; confidence and stale lead in preparing Masters (Complaint (research and assemble all evidence, research various states' laws, select class representatives, etc.), drift amounts before fin Cox House, Moving case opposing Ford's efforts to precube class etc.), drift amounts before to Notion to Seal, drift responses to 14 Motions for summary Judgmen and Mitted, Response to Notion to Seal, drift responses to 14 Motions for stemeng committee and lead counsel appointments, and preliminary approval motion; revise response to motion to cample arbitration and motion to quash the sal subposers; coordinate the Tailing Committee and lead counsel alpointments, and preliminary approval motion; revise response to motion to to quash the sal subposers; coordinate the Tailing Committee and lead counsel alpointments, and preliminary approval motion; revise response to motion to to quash the sale subposers; coordinate the Glorium reviews and secure evidence from classy with all esperts; coordinate the Glorium reviews and secure evidence from classy which all esperts; coordinate the Glorium reviews and secure evidence from classy studied and take lead at all and Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare memorion issue; work on protect class representatives; because the protect and the sale of the counsel of the protect and the counsel of the protect and the counsel of the protect	diesel engine, respond to multiple sets of interrogatories and requests for production, draft and	Cory S. Fein	Senior Partner	1491.70	\$ 650.00	\$ 969,605.00
experts, prepare and file motion for class certification, attend all hearings); Lead Coursel in MDL and chair or co-chair of all MDL Plaintiffs' committees, organize and supervise Steering Committee on Sub-committees; prepare and review all critical correspondence, pleadings, and orders; prepare for and chair all PSC and Committee meetings; conferences with PSC members, MDL coursels, Ford's Coursels, Proxidar's coursels, and coursel for manufacturers of key engine components; coordinate assistance for and take lead in preparing Master Consolidated Complant (research and sassemble all evidence, research various states' laws, select class representatives, etc.), draft amicus brief in Cox House Moving case opposing Ford's efforts to preclude class certification, whomon for Preservation of Evidence, all Estatus Reports, Motion to Deem Allowing Certifications (Monton for Preservation of Evidence, all Estatus Reports, Motion to Deem Allowing Certifications). Motion for Preservation of Evidence, all Estatus Reports, Motion to Compel Production of documents, joint application for steering committee and lead coursels appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subponens; coordinate Colling Committee, conduct extensive cased and any page and extensive and any text leads at all leaving research, and take lead at all leaving research, a	serve discovery to Ford, prepare response to motion to dismiss, prepare response to motion for	Dana B. Levy	Senior Associate	619.25	\$ 500.00	\$ 309,625.00
Aron L. Gregg Senior Associate 250.70 § 450.00 \$ 112,815.00 Committee and sub-committees, prepare and review all critical correspondence, pleadings, and orders) prepare for and chair all FSC and Committee meetings; conferences with PSC members, MDL counsel, Proft's Counsel, Navistar's counsel, and counsel for manufacturers of key engine components; coordinate assistance for and take lead at in preparing Master Consolidated Complant (research and assemble all evidence, research various states' laws, select class representatives, etc.), draft amusos brief in Cox House Moving case opposing Ford's efforts to preclude class representatives, etc.), draft amusos brief in Cox House Moving case opposing Ford's efforts to preclude class representatives, etc.), draft amusos brief in Cox House Moving case opposing Ford's efforts to preclude class representatives, etc.), draft amusos brief in Cox House Moving case opposing Ford's efforts to preclude class certification, Motion for Preservation of Evidence, all Status Reports, Motion to Deem Allegations Admitted, Response to Motion to Seal, draft responses to 14 Motions for Steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential imitations defenses; prepare for, attend, and take lead at all Law Committee depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses, reprited producement for cloument review and prescriptions; conduct multiple secondary reviews of coded and hot documents, coordinate	more definite statement, prepare multiple amended complaints, retain and work with multiple	Craig C. Marchiando	Senior Associate	495.10	\$ 425.00	\$ 210,417.50
Committee and sub-committees; progare and review all critical correspondence, ploadings, and corders; prepare for and chair all PSC and Committee meetings; conferences with PSC members, MDL coursel, Ford's Counsel, Navistar's coursel, and coursel for manufacturers of key engine components; coordinate assistance for and take lead in preparing Master Consolidated Complaint, Ford's Counsel, Navistar's coursel, and coursel for manufacturers of key engine components; coordinate assistance for and take lead in preparing Master Consolidated Complaint, Ford a microsphale and the control of Evidence, and Status Reports, Motion to Deam Allegations Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of Evidence, and Status Reports, Motion to Deam Allegations Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead coursel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memorrandar gearding, tolling issues under every state's law, and coordinates the filing of multiple statewide class actions to protect class members from potential limitations defenses, prepare memorrandar gearding, tolling suses under every state's law, and responses, cell discovery responses, prepare for [document review] and serves selections; coordinate the filing of multiple statewide tolling the state of the proper memorrandar (1906). The state of the proper memorrandar (1906) and	experts, prepare and file motion for class certification, attend all hearings); Lead Counsel in MDL	Clayton A. Morton	Junior Associate	232.35	\$ 370.00	\$ 85,969.50
orders; prepare for and chair all PSC and Committee meetings; conferences with PSC members, MDL counsel, Pord's Counsel, Navistar's counsel, and counsel for manufacturers of key engine components; conditional easistance for and take lead in preparing Master Consolidated (Complant (Complant Parallegal 1997) (Preservation of Evidence, all Evidence, research various states' laws, select class representatives, but only to the parallegal 1997 (Parallegal 1997) (P	and chair or co-chair of all MDL Plaintiffs' committees; organize and supervise Steering	Aron L. Gregg	Senior Associate	250.70		112,815.00
MDL counsel, Ford's Counsel, Navistar's counsel, and counsel for manufacturers of key engine components; coordinate assistance for and take lead in preparing Master Consolidated Complaints (Pessarch and assemble all evidence, research various states' laws, select class representatives, etc.), draft amicus brief in Cox House Moving case opposing Ford's efforts to preclude class certification; Motion for Preservation of Evidence, all Status Reports, Motion to Deem Allegations Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memorranda regarding tolling issues under every state's law, or experiments of the prepare memorranda regarding tolling issues under every state's law, or experiments and regarding tolling issues under every state's law, or experiments and regarding tolling issues under every state's law, or experiments and regarding tolling issues under every state's law, or experiments and regarding tolling issues under every state's law, or experiments and responses; prepare memorranda regarding tolling issues under every state's law, or experiments and responses; prepare memorranda regarding tolling issues under every state's law, or experiments and responses; prepare memorranda regarding tolling issues under every state's law, or experiments and responses; prepare memorranda regarding tolling; research, retrain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; confidents and experiments of work to MDL counsel; prepare memorranda (and take) and take and take lead at all hardings; research, retrain, and work closely with all experts; coordinate of working and coordinate and take and take and take and take and take and t	Committee and sub-committees; prepare and review all critical correspondence, pleadings, and	Amy E. Tabor	Senior Associate			138,262.50
interval to the components of	orders; prepare for and chair all PSC and Committee meetings; conferences with PSC members,	Mark H. Ritchie	Senior Associate			
research and seasonble all evidence, research various states laws, select class representatives, etc.), draft amicus brief in Cox House Moving case opposing Ford's efforts to preclude class certification; Motion for Preservation of Evidence, all Status Reports, Motion to Deem Allegations. Admitted, Response to Motion for Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memorand regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate dass representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; prepare for (document review) and serve as lead or collead on depositions of Ford witnesses (Renvick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Futton (300(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Complaint, friefing and depositions of Ford documents for Master Scale and Ford Complaints of Ford documents o	MDL counsel, Ford's Counsel, Navistar's counsel, and counsel for manufacturers of key engine	John C. Dessalet	Paralegal		•	
Pearly and assemble all evidence, research various states' laws, select class representatives, etc.), draft amicus brief in Cox House Moving case opposing Ford's efforts to preclude class certification; Motion for Preservation of Evidence, all Status Reports, Motion to Deem Allegations Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead coursed appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all heavings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous elicitent interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery requests and responses; prepare for (focument review) and serve as lead or colead on depositions of Ford witnesses (Remvick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Futton (30hG), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Compliant, briefing and depositions of Ford documents for Master Compliant, briefing and depositions of Ford documents for Master Compliant, briefing and depositions of Ford documents for Master Compliant, briefing and depositions of Ford documentings and replayms is an advantage of the properties of the prope	components; coordinate assistance for and take lead in preparing Master Consolidated Complaint	Kathryn E. Kersh	-			
etc.), draft amicus brief in Cox House Moving case opposing Ford's efforts to preclude class certification; Motion for Preservation of Evidence, all Status Reports, Motion to Deam Allegations, Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding. Italing issues under every state's law, and coordinate a Hilling of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate and state lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Remwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Eurlon (300(6)), Hotal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivale and occument control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numero		Patsy A. Ledezma				
certification; Motion for Preservation of Evidence, all Status Reports, Motion to Deem Allegations, Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subponear, coordinate folling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and eveniences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all mere review) and severe as lead or collead on depositions of Ford witnesses (Remwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (3006)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Civileal on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement meetings and mediation and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement meetings and telephonic discussions and Settlement mee		Sylvia Z. Vargas				
Admitted, Response to Motion to Seal, draft responses to 14 Motions for Summary Judgment, Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and welich inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or collead on depositions of Ford witnesses (Remwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Futton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control Issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation and telephonic discussions) and Settlement meetings and mediation and telephonic discussions and settlement meetings and mediation; attend all settlement meetings and mediation; attend all						
Motion to Compel Production of documents, joint application for steering committee and lead counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Remvick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.	<u> </u>	Felicia D. Labbe	Paralegal	62.95	\$ 175.00	\$ 11,016.25
counsel appointments, and preliminary approval motion; revise response to motion to compel arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel, prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or collead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wirght, Echkoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Artzona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
arbitration and motion to quash Neal subpoena; coordinate Tolling Committee, conduct extensive research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all. Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and sever as elaed or collead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
research and prepare memoranda regarding tolling issues under every state's law, and coordinate the filing of multiple statewide class actions to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Criviella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
coordinate the filing of multiple statewide class acitons to protect class members from potential limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all. Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
limitations defenses; prepare for, attend, and take lead at all hearings; research, retain, and work closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation, attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
closely with all experts; coordinate class representative depositions and vehicle inspections; coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Eenerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.	1					
coordinate all destructive testing; conduct numerous client interviews and secure evidence from clients; schedule and take lead at all. Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Futton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
clients; schedule and take lead at all. Law Committee and Discovery Committee meetings and conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or colead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
conferences; handle all assignments of work to MDL counsel; prepare multiple discovery requests and responses; edit discovery responses; prepare for (document review) and serve as lead or coleded on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
and responses; edit discovery responses; prepare for (document review) and serve as lead or co- lead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.	_					
lead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright, Eckhoff, Eeley, Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
Enerson, Frommann, Gomes, Fulton (30b(6)), Horbal, Freeland, Taylor); coded and analyzed numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
numerous sets of Ford documents for Master Complaint, briefing and depositions of Ford witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
witnesses; conduct multiple secondary reviews of coded and hot documents; coordinate IT committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
committee issues and regularly interface with Crivella on document control issues; work on protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
protective order issues; interview potential class representatives; attend all meetings with experts in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
in Arizona; handle privilege log issues; prepare all detailed information for mediation; attend all settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
settlement meetings (and telephonic discussions) and Settlement meetings and mediation sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
sessions in Houston, Chicago, and Washington DC; contribute to settlement proposals; handle numerous calls and emails with class members following notice.						
numerous calls and emails with class members following notice.						
	1					
Total House & Food	Inumerous calls and emails with class members following notice.					
Total House & Food						
Total Hours & Food						
Total Hours & Food						
Total Hours 9 Food:						
Total Hours 9 Food:						
	Total Hours & Fees:			10190.50		\$ 4,924,928.25

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 4 of 9 PageID #:6153 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate		Fees
Climaco, Wilcox, Peca, Tarantino & Garofoli, Co., L.P.A. (PSC Member/Discovery Committee)	1	1.0.0	1100.10			. 000
Attend PSC meetings; research and prepare complaint of later transferred action; review critical	John R. Climaco	Senior Partner	41.60 \$	650.00	\$	27,040.00
correspondence, pleadings, and orders to keep abreast of developments; conferences and	John A. Peca	Senior Partner	31.20 \$	600.00	\$	18,720.00
correspondence with lead counsel and other PSC members; participate in discovery conferences	David M. Cuppage	Junior Partner	2.00 \$			1,100.00
and correspondence; interview class members; prepare discovery responses; review and code	Scott D. Simpkins	Junior Partner	5.30 \$		\$	2,915.00
documents assigned by lead counsel; research in support of opposition to Prebish and Barrett	Lisa A. Gorshe	Junior Associate	13.80 \$		\$	6,900.00
motions for summary judgment; prepare portion of response to Prebish and Barrett's motion for	Patrick G. Warner	Of Counsel	301.40 \$		\$	165,770.00
summary judgment.	Gwen M. Hennessey	Paralega	6.60 \$		\$	1,056.00
54a.	Gina A. Bruno	Paralega	61.00 \$		\$	9,760.00
Total Hours & Fees:	dilla A. Brullo	raiaiega	477.80	100.00	\$	234,229.50
Cuneo Gilbert & LaDuca, LLP			4//.80		Ą	234,229.30
·	Investigan Course	Canian Danta an	0.00	900.00	<u> </u>	400.00
Conferences and correspondence with lead counsel; work with class representatives to secure	Jonathan Cuneo	Senior Partner	0.60 \$			480.00
evidence; research and prepare statewide complaint for tolling issues.	Pamela Gilbert	Senior Partner	0.60 \$			345.00
	Charles LaDuca	Senior Partner	51.10 \$ 0.60 \$			30,660.00
	Robert Cynkar	Junior Partner	0.60 \$			450.00
	Matthew Wiener	Junior Partner	1.85 \$			420.00
	Matthew Miller	Junior Partner	0.50 \$			1,295.00
	Jon Tostrud Sandra Cuneo	Of Counsel	0.60 \$			300.00
		Junior Partner	0.60 \$			375.00
	Preetpal Grewal Alexandra Warren	Junior Partner	0.80 \$			345.00 157.50
	Victoria Romanenko	Junior Partner Senior Associate	104.85 \$			47,182.50
	Jen Kelly	Senior Associate	0.60 \$			270.00
	Brendan Thompson	Senior Associate	4.10 \$			1,845.00
	Beatrice Yakubu	Senior Associate	0.60 \$		_	225.00
	Anne Reiner	Law Clerk	5.60 \$			1,120.00
	Laura Cheeks	Paralegal	2.60 \$			390.00
	Navarro Cope`s	Paralegal	1.30 \$		_	195.00
	Gabe Stutman	Paralegal	0.30 \$			60.00
Total Hours & Fees:	Gabe Statillari	T di diegai	177.30	200.00	\$	86,115.00
Edelman, Combs, Latturner & Goodwin, LLC (Liaison Counsel)			177.50		Y	50,115.00
Attend PSC meetings; review critical correspondence, pleadings, and orders to keep abreast of	Daniel A. Edelman	Senior Parner	3.00 \$	5 550.00	\$	1,650.00
developments; conferences and correspondence with lead counsel; assist with filings and local	James O. Latturner	Senior Parner	1.60 \$			880.00
rule application in Custom Underground matter; attend hearings in Custom Underground matter;	Francis R. Greene	Junior Partner	14.60 \$			5,110.00
assist Lead Counsel with filings, courtesy filings, and local rule application; attend hearings.	Samantha Glass	Paralegal	32.80 \$			3,280.00
assist Lead Coursel with mings, courtesy mings, and local rule application; attend fleatings.	Megan Stewart	Paralegal	0.50 \$			50.00
	Matthew Wonzer	Paralegal	1.00 \$			100.00
	Magdalena Serafin	Paralegal	0.40 \$			40.00
	Alana Zalas	Paralegal	0.20 \$			20.00
	Richard Murphy	Paralegal	0.30 \$			30.00
Total Hours & Fees:		. araicgai	54.40	100.00	\$	11,160.00

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 5 of 9 PageID #:6154 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate		Fees
Glassman, Edwards, Wyatt, Tuttle & Cox, P.C.						
Prepare complaint and other pleadings associated with subsequently transferred action; review	Tim Edwards	Senior Partner	41.10 \$	450.00	\$	18,495.00
correspondence, pleadings, and orders to keep abreast of developments.	Todd B. Murrah	Junior Partner	69.40 \$	375.00	\$	26,025.00
	Edwin E. Wallis	Senior Associate	79.30 \$	375.00	\$	29,737.50
	Diane Asbridge	Paralegal	7.70 \$	125.00	\$	962.50
Total Hours & Fees:			197.50		\$	75,220.00
Graves Bartle Marcus Garrett, LLC						
Prepare complaint and other pleadings associated with later transferred action; review critical	Justin Whitworth	Law Clerk	26.00 \$	210.00	\$	5,460.00
correspondence, pleadings, and orders to keep abreast of developments; research, draft and	Rachel Buchholz	Paralegal	8.40 \$	160.00	\$	1,344.00
prepare Illinois state court complaint for tolling purposes; conferences and correspondence with						
other PSC members; handle class member inquiries.						
Total Hours & Fees:			34.40		\$	6,804.00
Holland, Groves, Schneller & Stolze, LLC						
Research and prepare complaint of later transferred matter; correspondence and conferences	Eric D. Holland	Senior Partner	16.38 \$	700.00	\$	11,466.00
with Tolling Committee; research, prepare and file Illinois complaint for tolling project; handle	Kevin D. Wilkins	Junior Associate	32.40 \$	350.00	\$	11,340.00
class member inquiries regarding Settlement.	Gerard B. Schneller	Junior Parter/SH	1.40 \$	550.00	\$	770.00
Total Hours & Fees:			50.18		\$	23,576.00
The Katriel Law Firm, PLLC (PSC Member/Co-Chair Law Committee)						
Attend PSC and law committee meetings; prepare 7 complaints and other pleadings associated	Roy A. Katriel	Senior Partner	794.30 \$		\$	488,494.50
with later transferred action; review critical correspondence, pleadings, and orders to keep	Paralegal		132.00 \$	125.00	\$	16,500.00
abreast of developments; conferences and correspondence with lead counsel and other PSC						
members; participate in research and briefing conferences and correspondence; research and						
prepare a portion of Master Amended Complaint (unconscionable duration of warranty); researc	h					
and prepare motion to quash deposition of Ken Neal; research and prepare response to motion to	0					
compel arbitration.						
Total Hours & Fees:			926.30		\$	504,994.50
Levin, Fishbein, Sedran & Berman (PSC Member/Law Committee)			920.30		Ţ	304,334.30
Attend PSC and law committee meetings; review critical correspondence, pleadings, and orders to	Charles Schaffer	Junior Partner	111.00 \$	750.00	\$	83,250.00
keep abreast of developments; conferences and correspondence with lead counsel and other PSC		Julioi Faithei	111.00	730.00	ې	83,230.00
members; attend Law Committee Meetings and conferences; participate on tolling						
subcommittee; participate in tolling project, research and preparation of statewide class actions;	Brian Fox	Junior Associate	168.25 \$	400.00	\$	67,300.00
research multiple states' laws for tolling project; research and prepare aspects of responses to						
motions for summary judgment; revise settlement agreement.						
motions for summary Judgment, revise settlement agreement.						

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 6 of 9 PageID #:6155 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate		Fees
Lieff Cabraser Heimann & Bernstein (PSC Member/Co-chair Expert Committee)						
Attend PSC, discovery, and expert meetings; review critical correspondence, pleadings, and orders	William Bernstein	Senior Partner	0.30	\$ 900.00	\$	270.00
to keep abreast of developments; conferences and correspondence with lead counsel and other	Robert Nelson	Senior Partner	0.90	\$ 800.00	\$	720.00
PSC members; participate in expert conferences and correspondence; analyze Ford expert	Jonathan Selbin	Senior Partner	4.10	\$ 725.00	\$	2,972.50
declarations in support of motions for summary judgment, prepare for and take depositions of	Mark Chalos	Junior Partner	211.00	\$ 575.00	\$	121,325.00
Ford's experts; participate in expert meeting in Arizona; assist in summary judgment research	Nancy Chung	Senior Associate	6.40	\$ 490.00	\$	3,136.00
(California law); prepare portions of responses to motions for summary judgment; participate in	Annika Martin	Senior Associate		\$ 490.00	\$	3,136.00
interviewing and selecting potential Plaintiffs' experts; prepare Daubert briefs to strike Ford's	Jason L. Lichtman	Junior Associate	30.50	\$ 465.00	\$	14,182.50
experts (Paul Taylor and Mark Hoffman) who supplied declarations in support of 14 motions for	Daniel Leathers	Junior Associate		\$ 395.00	\$	1,777.50
summary judgment; handle numerous calls and emails with class members following notice.	Richard Anthony	Paralegal	63.80		\$	18,821.00
	Greg Waskiewicz	Paralegal	11.20		\$	3,304.00
	Brianna Lengel-Bail	Paralegal	2.00	•	\$	550.00
	William Glad	Paralegal	11.80		\$	2,950.00
	Florencia Cudos	Paralegal	0.50	\$ 295.00	\$	147.50
Total Hours & Fees:			353.40		\$	173,292.00
Lockridge Grindal Nauen P.L.L.P. (PSC Member/Law Committee/Discovery Committee)						
Attend PSC meetings; conferences and correspondence with lead counsel; review critical	Richard Lockridge	Senior Partner	0.40	\$ 700.00	\$	270.00
correspondence, pleadings, and orders to keep abreast of developments; attend law committee	Robert K. Shelquist	Senior Partner	72.60	\$ 650.00	\$	45,410.00
meetings and conferences; research and prepare 50-state comparative law analysis on consumer	Scott Moriarity	Associate	222.70	\$ 400.00	\$	83,812.50
fraud/protection; prepare commonality analysis; participate on IT Committee for selection of	Elizabeth Scoggin	Law Clerk	20.30		\$	3,248.00
document vendor; attend discovery meeting in Houston; prepare for and handle class	Constance L. Hartel	Associate	4.50		\$	1,380.00
representative depositions (Atwell, Clark, and Marcum); research and prepare statewide	Elizabeth Odette	Associate	28.30		\$	10,612.50
complaint (Indiana) for tolling project; research in support of tolling project; schedule and attend	Rick Linsk	Associate	24.00	•		7,800.00
class representative vehicle inspections (Atwell, Clark, Marcum); prepare discovery responses for	Kelly LeRoy	Paralegal	48.10	•	-	8,380.00
certain class representatives; prepare deposition summaries of class representative depositions;	Krista Freier	Associate	65.00		-	16,250.00
prepare responses to Ford's statements of undisputed facts submitted in support of motions for	Kristen Robinson	Associate	40.50	\$ 250.00	\$	10,125.00
summary judgment (as to certain class representatives (Atwell, Clark, Marcum); research and	Kevin Ravenscraft	Associate	56.65	\$ 250.00	\$	14,162.50
prepare portions of responses to Ford's motions for summary judgment; handle numerous calls						
and emails with class members following notice.						
Traditions 0 From			502.05			204 456 50
Total Hours & Fees:			583.05		\$	201,450.50

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 7 of 9 PageID #:6156 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate		Fees
Neblett, Beard & Arsenault (PSC Member/Law Committee/Discovery Committee/Settlement						
Committee)						
Attend PSC meetings; conferences and correspondence with PSC members and lead counsel;	Richard J. Arsenault	Senior Partner	340.00	\$ 750.00	\$	255,000.00
review critical correspondence, pleadings, and orders to keep abreast of developments; assist in	C. Michael Bollinger	Senior Partner	43.40	\$ 695.00	\$	30,163.00
expert selection; prepare complaint of later transferred action; attend meetings with expert Bullet	Laura Singletary	Junior Associate	19.00	\$ 450.00	\$	8,550.00
Proof Diesel in Arizona; assist in class representative selection for master amended complaint;	Mary Nell Bennett	Junior Associate	113.40	\$ 450.00	\$	51,030.00
assist in privilege log issues; participate in interviewing and selection of document vendor;	Ramsey Marcello	Junior Associate	0.75	\$ 450.00	\$	337.50
interface with selected document vendor (Crivella); research regarding tolling issues and	Doug Rushton	Junior Associate	188.20		\$	84,690.00
application of American Pipe in certain jurisdictions; research and take the lead on preservation	LaToya J. Burrell	Junior Associate	13.00	\$ 450.00	\$	5,850.00
order issues; attend discovery meetings and conferences; review and code multiple sets of Ford	Todd Campbell	Junior Associate	59.30	\$ 450.00	\$	26,685.00
document assigned by lead counsel; prepare analyses regarding "hot" documents; prepare	Blakely Molitor	Junior Associate	214.25	\$ 450.00	\$	96,412.50
deposition summaries of Ford witnesses; participate in settlement meetings and mediations	Heather Blalock	Paralegal	12.50	\$ 150.00	\$	1,875.00
sessions in Chicago and Washington DC; contribute to settlement proposals; handle numerous						
calls and emails with class members following notice.						
cans and chairs with class members following notice.						
Total Hours & Fees:			1003.80		\$	560,593.00
Nevares, John F. & Associates, PSC (PSC Member/Discovery Committee)	1				T	223,222.00
Prepare complaint of later transferred action; review critical correspondence, pleadings, and	John F. Nevares	Senior Partner	682.70	\$ 650.00	\$	443,755.00
orders to keep abreast of developments; attend PSC meetings; conferences and correspondence	Dolma Acevedo	Paralegal	32.00		<u> </u>	6,400.00
with PSC members and lead counsel; participate in discovery meetings and conferences; review	20	. a. a.ega.	32.00		Ψ	3, 133.33
and code multiple sets of Ford documents assigned by lead counsel; prepare analyses regarding						
"hot" documents; client interviews.						
The adecuments, elene meet views.						
Tabal Harris O Franci			744.70			450.455.00
Total Hours & Fees:			714.70		\$	450,155.00
Parker Waichman Alonso LLP (PSC Member/Discovery Committee/Settlement						
Committee/Expert Committee)						
Attend PSC meetings; conferences and correspondence with PSC members and lead counsel;	Jerrold S. Parker	Senior Partner	14.00	•		14,000.00
review critical correspondence, pleadings, and orders to keep abreast of developments; prepare	Peter Cambs, Sr.	Senior Associate	557.30			362,245.00
requests for production; participate in expert witness selection and analysis; attend meetings with	l l	Law Clerk	6.80			1,700.00
expert Bullet Proof Diesel in Arizona; attend discovery meetings and conferences; review and	Gale L. Walden	Paralegal	14.15	\$ 250.00	\$	3,537.50
code multiple sets of Ford document assigned by lead counsel; conduct secondary review of "hot"						
coded documents; prepare analyses of key documents; draft Interrogatories and requests for						
admissions; participate in settlement meetings and mediations sessions in Chicago and						
Washington DC; contribute to settlement proposals; handle class member inquiries following						
notice.						
Total Hours & Fees:			592.25		\$	381,482.50

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 8 of 9 PageID #:6157 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours		Rate	Fees
Pendley, Baudin & Coffin (PSC Member/Law Committee)						
Attend PSC meetings; conferences and correspondence with PSC members and lead counsel;	Patrick W. Pendley	Senior Partner	67.00	\$	500.00	\$ 33,500.00
review critical correspondence, pleadings, and orders to keep abreast of developments; prepare	Nicholas R. Rockforte	Junior Associate	168.90	\$	250.00	\$ 42,225.00
complaint of later transferred action; attend Law Committee conferences; participate in tolling	Elena P. Branzaru	Junior Associate	10.90	\$	250.00	\$ 2,725.00
project; attend discovery meetings and conferences; research and prepare Alabama state	Meagan B. Collier	Paralegal	7.40	\$	100.00	\$ 740.00
complaint for tolling project; review and code document sets assigned by lead counsel; prepare deposition summaries; research client data for class representative selection from specific states; interview potential class representatives; handle class member inquiries following notice.	Renee D. Edwards	Paralegal	4.00	\$	100.00	\$ 400.00
Total Hours & Fees:			258.20			\$ 79,590.00
Piscitelli Law Firm (Law Committee/Discovery Committee)						
Attend PSC meetings; conferences and correspondence with lead counsel; attend law committee	Frank E. Piscitelli, Jr.	Senior Partner	270.85	-	600.00	\$ 162,510.00
and discovery committee conferences; review critical correspondence, pleadings, and orders to	Frank E. Piscitelli, Jr.	Senior Partner	22.00	\$	650.00	\$ 14,300.00
keep abreast of developments; interviewed numerous clients and potential class representatives	David Skall	Senior Associate	65.95	\$	500.00	\$ 32,975.00
for inclusion in amended master complaint; prepare numerous class representative	Jason Klein	Junior Associate	27.10	\$	300.00	\$ 8,130.00
questionnaires; obtain and analysis multiple client repair documents for class representative	Jason Klein	Junior Associate	5.00	\$	250.00	\$ 1,250.00
analysis and provide to lead counsel; client interviews; research various state laws for preparation	Pam Loftus	Paralegal	31.10	\$	190.00	\$ 5,909.00
of various statewide complaints; (assist on master amended complaint, tolling issues; prepare	Candice Roberts	Paralegal	130.90	\$	120.00	\$ 15,708.00
responses (for multiple class representatives) to Ford's separate statements of facts in support of motions for summary judgment); prepare discovery responses for client class representatives; coordinate and handle multiple vehicle inspections; prepare and handle class representative depositions.	Candice Roberts	Paralegal	28.60	\$	250.00	\$ 7,150.00
Total Hours & Fees:			581.50			\$ 247,932.00

Case: 1:11-cv-02496 Document #: 256-4 Filed: 04/10/13 Page 9 of 9 PageID #:6158 Ford 6.0L Diesel Litigation--Cumulative Time and Lodestar

Firm and Assigned Tasks	Name	Title	Hours	Rate	Fees
Weller, Green, Toups & Terrell, L.L.P. (PSC Member/Discovery Committee Chair/Settlement					
Committee)				1	
Co-lead in Custom Underground matter; review critical correspondence, pleadings, and orders to	Mitchell A. Toups	Senior Partner	1406.45	\$ 725.00	\$ 1,019,676.25
keep abreast of developments; conferences with PSC members and lead counsel; attend all	Steven Toups	Senior Partner	81.20	\$ 575.00	\$ 46,690.00
discovery meetings and conferences; edit discovery responses; prepare for (document review)	Janney Gordon	Paralegal	152.30	\$ 250.00	\$ 38,075.00
and take lead or co-lead on depositions of Ford witnesses (Renwick, Berardi, Koszewnik, Wright,	Seth Reed	Paralegal	76.00	\$ 250.00	\$ 19,000.00
Eckhoff, Eeley, Enerson, Fromman, Gomes, Ligon, Fulton, Horbal); conduct client interviews;	Peggy Dean	Paralegal	4.10	\$ 250.00	\$ 1,025.00
assist on class certification issues, evidence, and briefing in Custom Underground; coded and	Monty Christopher	Paralegal	73.50	\$ 250.00	\$ 18,375.00
analyzed multiple sets of Ford documents in preparation for various depositions of Ford	Gabrielle Henriquez	Paralegal	22.70	\$ 250.00	\$ 5,675.00
employees; work on protective order issues; participate in expert selection; interface with Crivella	Sarah Myers	Paralegal	20.75	\$ 250.00	\$ 5,187.50
West document vendor; interview potential class representatives; secure information and records	Tara Lewis	Paralegal	38.30	\$ 250.00	\$ 9,575.00
from multiple clients; attend meeting of experts in Arizona; conduct secondary review of hot				•	
documents for deposition preparation; analysis re privilege log; coordinate and attend vehicle				1	
inspections; coordinate and attend class representative depositions (Strong, Dinonno); participate				1	
in settlement meetings and mediation sessions in Houston, Chicago, and Washington DC;				•	
contribute to settlement proposals; handle numerous calls and emails with class members				•	
following notice.				1	
Tollowing Hotice.				•	
				i	
				i	
Total Hours & Fees:			1875.30		\$ 1,163,278.75
CUMULATIVE LODESTAR & FEES:			20254.93		\$ 10,220,147.50